8
. @ 590 _
A-A Q
N | |
i % Q/v % _ | \ ﬁ@m\@
BT
o AR N
|
° ©
m [
— .
,
6
¢ o
,
uﬂ & W/
S % i 29| 1] Vvalvula aire 1.4034 @16x20
Y | 28 2 | Fechador 1.4034 BJ12x20
5 27 1| Aguja 1.2344 @10x70
5 200 26 2 | Cilindro Al 212 C5 S
- - 25| 45 J. Torica Viton B2
24 1| Racord Aire Latén 1/8" @10
- 640 . 23 6 RPLRPL081150 G1/8" Laton G1/8" |
22 8 | tornillo:allen DIN 8.8 M5x50
! 21| 4 Centrador 1.7131 Cel 38
20 4  casquillo:sin valona DIN 1.7242 -
19 8 | Pasador DIN 6325 J10x40 4
17 12 | tornillo:allen DIN 8.8 M10x70
16 8 | tornillo:allen DIN 8.8 M6x18
15 12 | tornillo:allen DIN 8.8 M12x100
P 14 6 | tornillo:allen DIN 8.8 M6x20
ey 13 6 | tornillo:allen DIN 8.8 M12x60
m ) 12 10 | tornillo:allen DIN 8.8 M18x100
b% 11 3 | tornillo:allen DIN 8.8 M8x25 3
10 1| Boquilla 1.6752 D44076-3
9 1| Aro centrador 1.1730 B3200x40
8 1| Postizo aro 1.2344 96x69x60
7 1/ 1 Aro cavidad 1.2344 @423x57 |
6 1/ 2 Aro cavidad Moldmax B3420x80
5 1| Aro refrigeracion 1.2738 @335x40
| 4 1| Postizo Iny 1.2738 B270x41 2
3 1| Cavidad 1.2738 3590x420
2 1 Tapa refrig 1.2738 @336x20
640 1 1| Placa base Iny 1.2311 640x640x124
h } INDEX | NB.| DESIGNATION MATTER | DIMENSIONS |
—1® Nombre Fecha Firma .
_U_Uc._mao mOO O@A\_‘_O @ MM_MMMM__u._.Cﬂ._._.thr_._.mn_.,,__ﬁb
Comprobadol  O.S.P. | 091110
Din A2 Material - 1
Tratatamiento -
meM_m 171 B8294x342 Iny Mould 091110 Poso 1080 Kg
Dimensiones 640x640x544 00

H G = E D C | B | A



